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K )w=tAy MV
d=50mm m3 - - 0.03 0.03 |mxgsgEin
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mm mm m3 kg
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Hjl 1. 00 350 0.000035 0.05
Hj2 4.00| 1,400[ 0.000140 0.18
Hj3 2.200  1,900| 0.000190 0.25
Hj4 1. 00 450 0. 000045 0. 06
Hj5 1.70,  1,100[ 0.000110 0.14
Hj6 1. 00 100 0.000010 0.01
Hj7 1. 00 200[ 0.000020 0.03
Hj8 1.90 200[ 0.000020 0.03
Hj9 1. 00 250[ 0.000025 0.03
Hj10 5.00  4,750| 0.000475 0. 62
Hj1l 1. 20 700[ 0.000070 0.09
Hj12 1.00, 1,150 0.000115 0.15
Hj13 5.00 900[ 0.000090 0.12
il 13, 450[ 0.001345 1.76
& | 13,450] 0.001345 1.76
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Hjl 1.50,  3,350[ 0.000335 0. 44
i 3,350] 0.000335 0. 44
& i 3,350] 0.000335 0. 44
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WK TES T (ZD2) A2UEEH V = 0.00034
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1. WrEfEE T - s OV RS 50 mm

(W) FIFER M Tm (Z201) FiE
D-1 A= 0.8 X 1.00 0. 850 <3
D-2 A= 0.45 X 3.35 1. 508 &
D-3 A= 0.40 X 0.45 0. 180 &
D-4 A= 0.95 X 3.65 3. 468 &
D-5 A= 0.20 X 0.20 0. 040 &
D-6 A= 015X 0.15 0. 023 <3
D-7 A= 0.20 X 0.25 0. 050 &
D-8 A= 0.60 X 0.60 0. 360 &
D-9 A= 0.30 X 0.8 0. 255 &
D-10 A= 0.10 X 0.25 0. 025 <3
D-11 A= 0.20 X 0.25 0. 050 <3
D-12 A = 0.80 X 1.60 1. 280 <3
D-13 A= 1.8 X 1.85 3.423 <3
D-14 A = 0.45 X 0.95 0. 428 <3
D-15 A = 0.50 X 0.90 0. 450 <3
D-16 A = 0.10 X 0.20 0. 020 <3
D-17 A = 0.10 X 0.20 0. 020 <3
D-18 A = 0.75 X  0.90 0. 675 <3
D-19 A = 0.45 X 0.65 0. 293 <3
D-20 A = 0.10 X  0.40 0. 040 <3
D-21 A= 0.40 X 0.60 0. 240 <3
D-22 A = 0.40 X  0.50 0. 200 <3
D-23 A = 0.40 X  2.80 1.120 <3
D-24 A= 0.10 X 0.20 0. 020 <3
D-25 A= 0.15 X 0.20 0. 030 <3
D-26 A = 0.8 X 3.15 2.678 B
D-27 A= 0.15 X 0.70 0. 105 B
D-28 A = 0.40 X 1.80 0. 720 B
D-29 A= 0.50 X 0.90 0. 450 B
D-30 A = 0.30 X 0.35 0. 105 B
D-31 A= 0.20 X 0.25 0. 050 B
D-32 A = 0.10 X 0.20 0. 020 B
D-33 A= 0.25 X 0.30 0.075 B
D-34 A= 0.20 X 0.25 0. 050 B
D-35 A = 0.50 X 0.65 0.325 B
D-36 A = 0.80 X 1.10 0. 880 B

/B 20. 506
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vy = 20. 51 X 0.05 = 1.03 1.03 m3
2. a7 J—Fh G gy = 1.03 1.03 m3
B
3. arrsU—h | WEER
LB HES LN = 1.03 m3
oy 7 U — FOBMEREEER = 2.35 t/m3
W= 1.03 X  2.35 = 2.42 2.42
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(5 AE) WIEM fEE (2 02) 7k
D-5 A= 0.10 X 0.90 0. 090 Ui
D-6 A= 0.10 X 0.90 0. 090 XA
D-7 A= 0.05 X 0.30 0.015 Ui
N 0.195
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& it A = 0.195m2 0.20 m2
WrEEE (R ~—k A FEJLZIL)
e T AA = 0.20 m2
ITo kS = 50 mm
W TRHE T
vy = 0.20 X 0.05 = 0.01 0.01 m3
2. a7 U—h | fWEBE = 0.01 0.01 m3
B
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LB HES LN = 0.01 m3
av 7 ) — NOHNAFEERE = 2.35 t/m3
W= 0.01 X  2.35 = 0. 02 0.02 t
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(EETIE) WIEM fEE (Z02) ik
D-1 A= 0.20 X 0.20 0. 040 H T OO U1
D-2 A= 0.20 X 0.35 0. 070 T 0[]
D-3 A= 0.20 X 0.20 0. 040 T OO U1
D-4 A= 0.40 X 1.10 0. 440 H &
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& it A = 0.590 m2 0.59 m2
WrEEE (R ~—k A FEJLZIL)
it T i g = 0. 59 m2
ITo kS = 50 mm
W TRHE T
v = 0.59 X 0.05 = 0.03 0.03 m3
2. a7 U—h | fWEBE = 0.03 0.03 m3
B
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R ALER HES LN = 0.03 m3
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W= 0.03 X 2.35 = 0. 07 0.07 t
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L= 5.3 m
V= 0.01 X 0.05 X 5.30 X 1000 = 2.65 2.65
FemE B HE
L= 5.3 m
V= 0.01 X 0.05 X 5.30 X 1000 = 2.65 2.65
&t
L= 5.3 + 5.3 = 10. 6 10. 6
V= 2.65 +  2.65 = 5.3 5.3
Ny 2T v T
EL A B i
L= 5.3 m
V= 0.01 X 0.05 X 5.30 X 1000 = 2.65 2.65
FemE B HE
L= 5.3 m
V= 0.01 X 0.05 X 5.30 X 1000 = 2.65 2.65
&t
L= 5.3 + 5.3 = 10. 6 10. 6
V= 2.65 +  2.65 = 5.3 5.3
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A = 5.00 X ( 4.70 + 0 0.60 = 26.5 26.50 m2
(2) Wmyv-MER#RRE TYPE Al
A = 5.00 X (  4.70 + 0 0.60 = 26. 5 26.50 m2
(3) WiE TYPE B : iijffl
A = 5.00 X ( 4.70 + 0 0.60 = 26.5 26.50 m2
(4) BigEL TYPE B
A = 5.00 X (  4.70 + 0 0.60 = 26. 5 26.50 m2
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